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N T AR ERICIIT HHITRETEH
£ 5 s - kT B g 1 & & 1

E# R 4,492,200 + 92,292 4,584, 492
EEAGE 4,492, 200
EEZE 92,292
Z Dt R A 4,492,200 x 53.85% ( 35% = (1 — 35% ) ) 2,419,049
EFHBRIM 4,584,492 + 2,419,049 7,003, 541
—REEEE 7,003,541 x 53.85% ( 35% = (1 — 35% ) ) — 4,947 3,766, 459
KM 7,003,541 + 3,766, 459 10, 770, 000
HEBREHELE 10,770,000 x 10.00% 1,077,000
RHRAH 10,770,000 + 1,077,000 11, 847, 000
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% f] R - R B % 2 B O & # W E
BRI 4,584,492
BEEROHBERICET I RMRAER 4,584, 492
BIERROHIFEEICEHT 2 RMTRTERS 4,584, 492
BERZOHBEETEICET 2 RMRNER 4,492, 200
FEEfR 433, 500
1 FHE# R 1.00 433, 500 433, 500
=®
Wi - | 563, 000
2 EhRE 1.00 121, 800 121, 800
[l
3 iR 2.00 121, 800 243, 600
5]
4 RERE|E 1.00 197, 600 197, 600
]
HBEEICET A RIMMEROIZE 2,271, 800
b #BFEEICEHT A RMMEROIZE 1.00 2,277, 800 2,277, 800
=
HIFEEICET RN XEA KR 745, 000
6 HIFEEICRET 2 RMMIIBEARRE 1.00 745, 000 745, 000
=
[5E] 472,900
7 EHBSERREERK 1.00 472,900 472,900
=
BEERE 92,292
EHERARE 39, 292
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8 EHXHAME 1.00 39,292 39, 292
=
[5S 53, 000
9 EHHEM 1.00 53, 000 53, 000
=




Rifix- I/ \vr—>

BERROMFERICETIRMRART

51
& BB R 1X&Y
b R - BARTHE B = B O(f £ i s &
HEhE
A 1.00 75, 800. 00 75, 800
EXEETTACHD)
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.50 57,000. 00 142, 500
A (B)
A 2.50 47,200. 00 118, 000
& it YE%ERES - 1.00=K 433, 500. 00 433, 500
5 :2
£ . BERTHE HZED,
5 R - BARTE BART = B Ol | i s &
EXEE1TICH))
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57, 000
= it YEZERES ;- 1.00[= 121, 800. 00 121, 800
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A PREHRE H=EP
L g - BIRTHE BARL = B ) i fr &
F {EHRAR (B&EH)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57, 000
& Hi YEZERES - 1.00[H 121, 800. 00 121, 800
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HEnE
A 1.00 75, 800. 00 75, 800
T EHEm (%5
A 1.00 64, 800. 00 64, 800
HED (A)
A 1.00 57, 000. 00 57, 000
& &t fE%8eH : 1.00[H 197, 600. 00 197, 600
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L F : HEERICET S EMERORE % (=)
% 5 R - BARTHE BARL = B % i 5 &
FEHER (%5
A 7.00 64, 800. 00 453, 600
HED (A)
A 13.00 57, 000. 00 741, 000
HEn (B)
A 14.00 47, 200. 00 660, 800
e (C)
A 11.00 38, 400. 00 422, 400
& it EZREH - 1.00= 2,277, 800. 00 2,271, 800
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L HIFEEICRT AT XIS wREt % =)
% 5 R - AR R == = B ] i 5 &
FAEHEm (%5
A 4.00 64, 800. 00 259, 200
HED (A)
A 5.00 57, 000. 00 285, 000
HER (B)
A 1.00 47, 200. 00 47, 200
HER (C)
A 4.00 38, 400. 00 153, 600
& &t %82 H - 1.00= 745, 000. 00 745, 000
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% b R - BARTHE B = il £ i s &
EXE T ACEHD)
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.50 57,000. 00 142, 500
AR (B)
A 2.50 47,200. 00 118, 000
HAf (C)
A 3.00 38, 400. 00 115, 200
& it YE%ERES - 1.00=K 472,900. 00 472,900
5 :8
&% EHARE 1X&Y
% 5 R - BARTE BART = il | i s &
EHARE
=® 1.00 39, 292. 00 39, 292
& B {E%HES - 1.00= 39, 292. 00 39, 292
ES:9
2 EBBERR D)
% [ R - BRTiE BT = fili ] i i &
EXBHRRRE
=® 1.00 53, 000. 00 53, 000
& it 1E%HES - 1.00= 53, 000. 00 53, 000




